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Chapter Bl

Rational numbers — common fractions

B1.1 Number systems:

Complete:
Rational numbers: J; = {

——

Remember the propertiesof 1: (i) a x 1 = a
(ii)

a
1
(iii) &

il
o

I
—

B1.2 Equivalent fractions:

E.g.1 Write two equivalent fractions for L.

2
Ix3 3 ] Ix5 5 o v .
7%3 " § or %35 = E [These ure possible answers!]
Exercise 1: Date:

(1) Write three equivalent fractions for each of the following rational numbers:

(@ 3 b %
© 3 @
© o
® ¢ ®
W DR
k) 2 ]"1 M 3

(2) Are the following equivalent fractions or not? (Answer only yes or no.)

1 7

(a) 2 = 14 (b) ; = ; (c)

@ =2 @ 3=3 6)

® - =3 0
(3) Complete the following equivalent fractions:

@ %= ®) =3 ©

@ = =3 € — =L 5

(2) EE (h) 3% = o (1
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B1.3 Arrange rational numbers:

E.g.2 (a) Arrangeinascending order :

-

[«

— b
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(h}  Writea rational number between

P
1= 7 und

3

s
)
=
l

1 1]
37 < or 5 or

=
N'"‘
-
[

a Je

Exercise 2:

(1} Arrange the following fractions in ascending order:

(a)

& [rn
L[

4
and 5

hj
[

(c)

ta]—
w2
pov]
=
(=N
|

(b)

(d)

(2) Arrange the following fractions in descending order:

(a)

o[

e

and 2
i

(c)

r..|,__

"ll.:
[=4]
=
(=5

nl

(b)

aaftr

¥

5l

Date:

~afen

and

-JEN

-JI"..

e

5
(=9
'-"[r.:

~1jun

and 2

21

|=

bak

c:l“'

(3) Write one rational number between the following fractions:

(a} 2 and 2

(b)

3

and

)
5







(d)

(c) 1 and

E P
=
5
=T

'
kn

(e) (f) and 3

ra[tn

<l
o
=
o

"

© There are four cakes of the same size. Dean eats % of the first cake. Phillip eats  of the

second cake, André eats % of the third cake and Mark eats % of the last cake. Whose

cake had the biggest piece left over?

B1.4 Addition and subtraction of fractions:

E.g3 Simplify:

1 4 3 2
S+l o= b) 3+ Zy-Zx+ 1>y
L 2 3 4 b 3
I 6 4 4 3 3 3 3
= —X— + —=X— — —X— = =X ==X+ -y + =¥
2 6 3 4 4 3 ! 5
] 16 9 5 3 3 4 2 3 7
= — 4+ — = — = —=X—X - =X + —X—y + —x—yV
12 1 12 5 1 5 4 3 4
6 + 16 -9 15 3 8 )
= = —X — =X + —y + —¥
12 5 5 127 12
_ 13 _ DX -3x . Sv+ 21y
12 b} 12
_ L o 25
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Exercise 3: Date:
Simplify:

1 1 4 2 3_3 3

(1) 1+ d (2) 3 -4 (3)

4 A 9 5 1l _

(4) 275 + 379 (3) 24 -3 (6)

75 7 (8 5 9

( + ) % B 2% -3 (9) 4
(10) 3 , 2 (11) 1 _ 2,5 (12)

173 42-5+% (

(13) 3 3 (14 1 _1_1

g§P — 4¥ 6 3774
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(15}

(17)

(19

(21}

(23)

11

o= 4+ (k- U9 4444
g e N
82l l @0 Zx 4 Ly

%p - 34 + 7%11 - %q €2 —3% - [_T%)

1% + 2% + 3% (24) 4%)’ + 3%}' - 2%‘
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(25) 3 4 (26) 3 ( 1 1)
2m + 2 63 — [2= - 1=
T m R a1 3 13
(27) —%—?ry + %x e %.\1 (28) 252—30 = 33%0
(29) ] 1 1 (30) 3 1 . 1 3
31 - 23‘ — 23 zm — EA -+ j’\ +Em
2 6 y ¥
Egd Simplify: (1) — + = ) & = ==
g plif (a) o 7 5
— i + g—xi = _V..)(.z —_ Lxg
3x x 3 2 5 5 2
_2+18 _ 20 sp — 2p°
3x 3x - 10
Date:

Exercise 4:

Simplify:
() m  2m 2) 5 _ 3 &
2 3 X X2 573 72
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(4) ] 2 (5) fr-—a-2

(6)

ER [N

%]

-39t 34 s
@M 324, ®) =2 42
9) c+%—2 (19) %“%
(11) ;_§+55; (12) gp}g_k

© Complete the next three terms in the sequence: 1% R 2% ; 2

Can you predict the hundredth term? Write it down.

k|

.
k]
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B1.5 Multiplication and division:

. 2 8
E.g.5 Simplify — X —
g.5 Simplify (a) 5 59
)
2.8
3
4
S e
3 ¢.1
=~ 4
9
Exercise 5:
Simplity:
£ x3 2)
@ 3x3 (5)
M %3 @®)
(10) 2% +4 (11)
7.
(13) 6% +5 (14)

17

b 4
(h) [1— + —
3 15
4 15
= — Y —
3 4
_£
A
= 5
Date:
5 55 3 33
12 15
1% of 4% 9) 2 +%
6«2 (12) 22 x1lx33
2«24 (15) 24l
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(16) 5701‘( 24). - (17) 64x(35.34
18 1_(2xi)+2 L.=1.43
(9 3+ 1353 19 33715
o 4b 24a 4y” 2y
E.o.6 Simplify fa) —— x — h) — —_
4 Pl 12¢  8b B =+
= I#I‘ b4 —: 24¢ =] —-—-4 y: i
Tig 8B 3 2y
_ 2 _ B x
2 3 2y
Exercise 6: Date:
Simplify:
() 6x7% (2) ol (3) T T ok
4) -5y _ 18y 5) 3o . 21 6) {3y + L4
3 X 4g 2q
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